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QUESTION 1

A web page in a Worklight mobile application invokes a native page using the following function call:
WL.NativePage.show("com.demo.NativePage", parm2, data); What needs to be passed to the native page in the parm2
parameter? 

A. the name of an HTML error page that is displayed in case of error 

B. the function object that is called upon return from the native page 

C. the name of a native error-handler class that is invoked in case of error 

D. the URL of the web page that is displayed upon return from the native page 

Correct Answer: B 

 

QUESTION 2

Which mobile environments support the TabBar control? (Choose two) 

A. BlackBerry, 

B. Windows Phone 

C. iOS, 

D. Android 

Correct Answer: CD 

 

QUESTION 3

A Worklight mobile application named test has the following code: 
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What is the cause of this behavior? 

A. The server is unreachable. 

B. The heartBeatIntervalInSecs is set to a value that is too low. 

C. The heartBeatIntervalInSecs is set to a value that is too high. 

D. The serverSessionTimeout value needs to be set to a value lower than heartBeatIntervalInSecs. 

Correct Answer: A 

 

QUESTION 4

Once a Shell developer completes developing her Shell components, what is the proper way to distribute it to inner
application developers? 

A. Zipping the Worklight project and emailing it to inner application developers 

B. Committing the Worklight project to a Source Control Management system and telling inner application developers to
use source code from it 

C. The Shell developer should not distribute the Shell component to inner application developers. They should send
their inner applications to her in order to build them 

D. Sending the .wlshell Shell bundle file to inner application developers 

Correct Answer: D 

 

QUESTION 5

C2180-279 PDF Dumps | C2180-279 Practice Test | C2180-279 Study Guide                                3 / 4

https://www.passapply.com/c2180-279.html
https://www.passapply.com/c2180-279.html
https://www.passapply.com/c2180-279.html


https://www.passapply.com/c2180-279.html
2024 Latest passapply C2180-279 PDF and VCE dumps Download

Which authenticators are supported out of the box? (Choose three) 

A. Header authentication 

B. Persistent cookie authentication 

C. Form-based authentication 

D. Kerberos authentication 

Correct Answer: ABC 
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